
WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

1 of 5

LED P40 + P46   |   Linear, Wall 
4˝ Linear
I N S T A L L A T I O N  I N S T R U C T I O N S 

WS2: 2˝ Wall Spacer

WB: Wall Bracket 

WS: 1/2˝ Wall SpacerWS & WS2: Wall Spacers

41/2˝

1/2˝

6˝

7˝

2˝

3˝

5˝

31/2˝

3˝ 4˝ (P40) 
6˝ (P46)

4˝ (P40) 
6˝ (P46)

4˝ (P40) 
6˝ (P46)

21/4˝

WA L L  M O U N T I N G

WM: Direct to Wall

41/2˝

13/4˝ 3/4˝

3/16˝

3/8˝

WALL BRACKET (WB)WALL MOUNT (WS, WS2, WM)

INDIVIDUAL OR ROWINDIVIDUAL OR ROW

2’, 3’, 4’, 5’, 6’, 7’ or 8’ 2’, 3’, 4’, 5’, 6’, 7’ or 8’

ROW DIRECTIONROW DIRECTION

14˝, 26˝, 38˝,  
50˝, 62˝, 74˝ or 86˝

14˝, 26˝, 38˝,  
50˝, 62˝, 74˝ or 86˝ 5˝5˝ 10˝10˝

—   See row diagram or Prudential Ltg. plan layout (if provided). Begin all row mounting from left to right (See arrows).

—   Depending upon ceiling or wall construction reinforcement may be required at mounting locations.

—   FOR CONTINUOS ROW Install one fixture section at a time.

N OT E S

A D J O I N I N G  D E TA I L

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

12-05-2019



WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

2 of 5

LED P40 + P46   |   Linear, Wall 
4˝ Linear
I N S T A L L A T I O N  I N S T R U C T I O N S 

F I X T U R E  WA L L  M O U N T I N G

21/8˝ x 4˝ OUTLET BOX  
WITH WALL SPACER

21/8˝ x 4˝ OUTLET BOX  
WITHOUT WALL SPACER

MOUNTED TO WALL

4˝ OUTLET BOX  
WITH WALL SPACER

Box must have plaster ring  
cover for concealment

WALL SPACER  
WITHOUT OUTLET BOX

Plaster Ring

Wall Spacer

Screws 
(BY OTHERS)

Screws 
(BY OTHERS)

Mount fixtures to wall structure  
(typical for all wall mounting)

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

12-05-2019



WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

3 of 5

LED P40 + P46   |   Linear, Wall 
4˝ Linear
I N S T A L L A T I O N  I N S T R U C T I O N S 

1.	 Remove lens and reflector.

2.	 Install (4x) #8 x 3/8˝ hex washer head screws to wall spacer.

3.	 Mount wall spacer to j-box (by others) or structure surface at required locations (see layout).

4.	 Lift fixture, feed wires into fixture and slide screw heads through keyslot and secure.

5.	 Make all necessary wire connections reinstall reflector and lens.

6.	 Repeat steps 1-5 for continuos rows and install finish plates.

P 40 WA L L  S PAC E R  ( W S ) I N S TA L L AT I O N

Remove K.O. at  
feed location

#8-32 x 3/8˝ Hex Washer Self Tap 
Screw

Wall Spacer

#8 x 1/4˝ Hex Head Screw

J-Box or Wall Structure  
(BY OTHERS)

Reflector

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

12-05-2019



WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

4 of 5

LED P40 + P46   |   Linear, Wall 
4˝ Linear
I N S T A L L A T I O N  I N S T R U C T I O N S 

1.	 Remove lens and reflector.

2.	 From mounting kit (provided), install canopy, wall bracket arm assembly to fixture, secure with (2x) #8 x 1˝ head screw.

3.	 Mount wall plate to j-box (by others) or to structure surface at required locations (see layout).

4.	 Lift fixture, feed wires into fixture and slide onto wall plate and secure with (2x) #6-32 x 1/4˝ screws. Slide canopy back till it hits wall.

5.	 Make all necessary wire connections reinstall reflector and lens.

6.	 Repeat steps 1-5 for row condition and install finish plates. 

I N S TA L L AT I O N

Remove K.O. at feed location and  
insert 9/16˝ core white bushing provided.#8 x 1˝ Hex  

Head Screw

Wall Plate  
Support

#6-32 x 1/4˝ Phil Pan 
Head Type F Screw

Reflector

#6-32 x 1/4˝ Phil Pan Head 
Screw. Type F.

Wall Bracket Arm 
Assembly

31/2˝ Octagon J-Box or Wall Structure  
(BY OTHERS)

Canopy

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

12-05-2019



WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

5 of 5

LED P40 + P46   |   Linear, Wall 
4˝ Linear
I N S T A L L A T I O N  I N S T R U C T I O N S 

CEILING WASH  PERIMETER FILL CEILING WASH  BATWING WALL GRAZEWALL WASH

CEILING WASH  PERIMETER FILL CEILING WASH  BATWING WALL GRAZEWALL WASH

LED array opposite  
wall side

D1G Reflector 

AWL Lens

W
A

LL

W
A

LL

Align lens feature with 
same side as LED

Groove on 
LED side

Prisms on 
both sides

Smooth 
lens face

Groove on 
LED side

L E N S  C O N F I G U R A T I O N

WA L L  G R A Z E

D1G-AWW D1W-AWL

WA L L  WA S H

AWW Lens
D1W Reflector

Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

12-05-2019


